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=T A 37,900,000 35,100,000 2,800,000
= 5,967,695 5,967,695 0
== 31,932,305 29,132,305 2,800,000
A48 & 29 37,900,000 35,100,000 2,800,000
=2 5,967,695 5,967,695 0
= 31,932,305 29,132,305 2,800,000
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=2 5,967,695 5,967,695 0
< 5,513,500 5,515,500 A2,000
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= 0 5,967,695 N5,967,695
< 0 5,515,500 A5,515,500
01 MXSHIAEEZ 0 11,483,195 A 11,483,195
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< 5,498,000 0 5,498,000
Qs IEH2 ULLtZ S Btst 15,500 0 15,500
SN2 IS RS 25,816,379 23,010,519 2,805,860
703 WRHISEIHNTES 25,816,379 23,010,519 2,805,860
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OS= &l 300 1,000 AT700
202 O4Hl 0 1,000 A 1,000
01 =2 0 1,000 A 1,000
Ostns g3 9258 1,000 2,000 A 1,000
sungsli2e2 oldldl 125,516 126,676 A1,160
801 oldlbl 125,516 126,676 A1,160
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